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It is sufficient for something derived from a law to be like that law

OVERVIEW

We derive that YW can be 7pwn Xnvn from (Yown Rnbiw) S22 XnLiw Ppwn,
therefore we apply the rule of 11710 N9 1777 11 X237 17, that just as *927 WALV PPYA
cannot be Xavn a *»3,' similarly ywn wWnviw 7pwn (which are derived from ppwn
"Hon INNLIY) can also not be ¥nwn a %2, Our MOOIN explains why we cannot
broaden the scope of this 1°7.

nooIN asks:
=12 ON v 99INT APY’ 13929 290 HYPN

The @' 1°%718% 2pw° 2'";7 asked if indeed this is so that we are saying 17, therefore -
- 95 nn 1PRAN PPYNI DY NIV HNNMD PRI PIYN 10
The yaw nanm 1837 1pwn should a s1w just like the Y92 namm 19827 PPwH -
= 2293 AT 151 90N 10NT 9290 5‘,7 3’JﬂN1
And the 1"'p is effective so that the 7pwn become X»w, and the 137 is effective that
the XMW 1s limited to " —

mooIN cites similar cases of 1°7 11X 1"'p 1R
- 5193 N9 IMINY YD 233 (3,75 xnp xaz) TATD 18593 1359NDN NI INNST

' We derived on the previous Tmy that if a *22 cannot be Xntn a *23, so certainly *92n XpLIw ApwH cannot be Xnun a
93, We know that a (17WR1) 25 cannot be Xnun a 2> for in the P09 regarding a 071 °73 into which a yw fell ( Rp7
72,80 [1nw]) the 770 states Xnw> "1 Tpwn 931 XN 31 DR 2o that only PpwnI P93IR can become Xnw from the 95
(o), but not other o*73.
2 We know that *95 nnnn 1R 1pwn are Xnv from the P109 (in 72,8 [*1nw] X7p™) that Xnv® " apwn 231 (which is the
Tpwn that touched a (wR1) °25 which touched the yow). The apwn is therefore a *1w. Since the only source for yw
TPWn Xnvn is from °25 nama 1Ppwn the rule of 1°7 should limit the 7pwn to becoming a *1w.
? One can perhaps argue that if the pwn become just a "1 there is no need for the 1"p, and therefore the rule is that
where 1" 7791 we do not say 17. M90IN rejects this approach.
* Without the 1"» we would not know that a 9% can be 7pwn Xnvn at all
> Regarding the 17 of the Xm3, that y7w2 Wnuaw Ppws cannot be 2°%3 X (like PIwn XNLIW 7957 ALY Tpwn), the
17 does not impinge on the 1" (we say that a Y% can be 7pwn Xnvn [to become a NWXR1], but the Ppwn cannot be
0°%3 Xnvn), however the 17 which the w"19 181 °"1 suggests (that the yown Xnwiw 7pwn should be a *1w) this impinges
of the essence of the 1"p (since [generally] whatever touches a y7w becomes a 71wX1). m»don explains that we find
similar instances of this type of 1"7.
6 von is a flat mat made of reeds.
" We do not know from a 109 that a N can be Xnvn a yo1 (since it is not a °23), only through a 1"p from small 0717 ¥25
jars, into which a 21 cannot insert his fingers. Since a 0717 °73 is ARMY 23R only 17MRM (not 1INRA) so the 21 cannot be
xnun these o7vp 0°35 and nevertheless they are ARMw 23pn from a N, so the yon which is axmw Hapn from a ar
should certainly be n¥mw 22pn from a N and be Xnw for seven days.

1

TosfosInEnglish.com



17 17"7'0I0 2,7 2°MoD .7"02

For the X713 in 93777 73°2 75 says this 17 in the same manner, regarding the 1''p
of a n»2 Yo%, where the X713 asks -

- 77 NIV YPIORY 1 2INNY 29 NNMIVY NI P SN N1Y
Let us say the 1"'p is effective that the o1 receives (only) a 29 nX»w, and the 17

is effective to exclude 't NRMIY from this N1 XPVIY yor —

mooIn offers a second comparison:

- 21013195 959 530X DY D19 900 Y9 530N 3193 19991N Foan 98na 195 saxn
And regarding P17 9%r2 199, we also say (according to v"1) the 17 is effective
to pay full damages, and 7 is effective that he pays only 913."* The question is
that here too we should say 1" 17X that the 7pwn becomes Xnv from the yw, but 1°7 °17X that it is
only a *1 (not a NWXN) as is the rule by the T%» which is yawn ALY 751 WNLIY 1PwH that the
TPWwn 1s just a "Iw.

N1B0IN answers:
- PYNI 190 KIY YW $23Y 5199 JNIUN XY XINT DUP KT PNY 13939 91IN)

And the >"'1 says, that there is no difficulty, for here (by a y7v) we do not find

any case where something touched a Y@ and it is not a }YWR9; whatever a YW
touches is always a wX" -

- 95N PN 7950
Therefore we cannot differentiate between this fpwn which touched a vy and all other

things which touch a y7% and become a NwX", everything which touches a y7% must be a WX -
— 40 9591 BN \LP) IS]WJN‘) NIN 1919 XYW 12 ¥21N 927 JNOUN HN *3) DaN

¥ Without the 1" I would not know altogether that the Y51 can become Xnv from a nn.

? A "5 which was X3 from a ar is only Xav for one day, one can 2w it on that day and by evening it is 210.

However a >25 which was nna Xnvi is Xnv for seven days. The X713 there asked that since the X1 of a yon is that it

is INm0 P2apn from a 27 let the XMW be limited to the a&mw of a a1 which is 27Y XMW and not 't NXAW of a nx.

19 All agree that 1";772 197 pays only a 1232 pra *¢n when he is a an (the first three times the ox gores.).

' " maintains that P37 7¥M32 177 pays a 09w pra. He derives this through a 1"p; if 93 1 who are 7";172 Mo pay a

"1 in the 117 MW", so 1P which pays a 7"772 1" should surely pay a pri mwna w'".

2 Since we are deriving P31 Mw12 1P from 1"772 1P, we say 1°7 just as 1"772 1P pays only 191 the same applies

to 21717 MWI2 1P

1 y9n means that the > does not need to pay more than the value of the ox that did the damage, even if the

damage is more than the value of the ox. This is the payment of a an.

" In these two cases that moown cited the 7 impinges of the 1"p. By na nxmw it is always vaw nxmw (and

nevertheless we want to say 7 for 27y nXn1) and by w"1 (which always pays 77971 12) we say 1°7 that it pays only

191%. The same should apply here that the YW is &nvn the 7pwn, but only to make it a "1v.

' The 5waw nxmv by a N is only if the Xnvnsi 127 is an AXMLA 2. When this Xm0 2% touches something else and

makes it a XMWY MWK it is only 27y nRMw Xnv. There are cases where the object which touched the n»n becomes

only a "wX1 (so nyaw nxmw does not apply to them). Therefore we can imagine that the yo» should be like a PwXA

and only have 27y nxm.

' 9911 9931 P2 do not have Mpna 777w, The rule is that anything which does not have a 7p»2 77770 cannot be an a8
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However by n» nx»1v we find things that touch a n» that are only a 1w&=9; for
instance food and o917 %95 —

mooIn discusses the other case:
- 17111)’) 791 991 1991 DY PN

And @2'"1 and 2% are two separate issues therefore they can be separated.

In summation: There is a N NXMY which is not 7Yaw XMWY &1, namely 0717 ¥921 192X (which
have no Mpna 777Y) are not 7vaw nNRMW XY, Therefore we can imagine a N2 797 not being RXnv
7Yaw n¥mw. Paying a w"l is not interdependent on paying 7°%¥11 12 (we can see them as separate
concepts) therefore they need not go together and there can be a 1d1n ¥"1. However we cannot
even imagine that y7w ¥a» should be a "1 and not a NwXA. Therefore there can be no 1°7 for Ppwn
YW Wn0Iw regarding being a "1w.

mooIN rejects an alternate solution:
=997 9N U 913915 NIINT DIVN NINY PN YaN

But one cannot answer that there is no issue of 1°7 here (that the 7pw» should be a

"1v), because we can make the 1"'? in this manner -
- Oyqun xRV oan 995 9N NPV PRY B9 PoTR N

And what if 2°%21 278 which cannot become Xz from the airspace of a o217 993,

can become (1wX1) 8% from a yaw, so -
- XYM NNVNIY 1Y Y3 XY DN 592 9IND RNIVIIY PPYN

Tpw» which can become 8»v from the o917 %92 97X, can certainly become N2

from a yw; mooin rejects this approach -
1 (0w) 9391 18592 NN 2197 919199 NIIN 319 XYW AT

nxmvn. Therefore if a N touches P221R or 0711 25 they become a WX and can only be 1pwm P29IR Xnvn but not 17X
0°921. [It should be noted that the 0717 °31 1°22I8 are not 21y XMW XMW (for since they have no Mpna 7770 they remain
Xnv [forever]), however they are a 1"wX1 and if the yon (which has mpna 777v) is a MR it would only be nXmv RXnw
27w
7 w"s or pra *xn deal with the amount of payment; while 1273 or 7%¥» deal with the type of payment; therefore they
are independent of each other; w"1 is not the source of paying n>%¥11 13, they are separate laws (the same applies to
1"1 and 113). However yw nXniw always makes a iXmIv? WK not a *3w. The yWw causes whatever it touches to be
a IR,
' See “Thinking it over’ # 1.
9 A 1wRA 93 can only be Ppwn 19X Rnvn, but not 0°721 DTN,
2 The presumed advantage of this "7 is that the T»%% (the 0°921 07X which become yawn Rnv), from where we wish
to derive that Ppwn is yIwn XaLNY, is a WX (not like the Ppwn, which became Xnv from yawa XnvIw 22, which is a
1), so seemingly there is no 7.
! The end of the 1"p, the X of 1"pwn (over 2°231 O7X that it is D7 ¥ RMW'Y) is nonetheless only a 1w, therefore
the final rule is also that it is only a . The rule of 17 applies whether we want to limit the new rule based on 727
(as in the 1"p of the X713), or even based on the X1 of the 1121 (as Moo proposed 1"p).
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For even now using this 1" we can still maintain 1°7 as is evident in 7% P79
b2

SUMMARY

We cannot say 7 °1%11"? "17X in a case where the 1"'P *17X (in our case of yw vin)
is inextricably attached to the proposed 17 "1AX (YW van is always a NwX1). We
utilize 7 in both cases, whether it is regarding the rule of the 7% or whether it is
regarding the X of the T71.

THINKING IT OVER
1. M50 mentions the (rejected) 1"p from 229 07x.% In our entire X0 we do not
find a mention of 07X, only o°3; why did m»o1n mention 07X here?!**

2. When do we say 17 regarding the X121 of the 7151 (as Mo0n explains here), and
when do we not say 17 regarding the X711 of the 71912%

22 "9 maintains through a "p that P17 MwI2 177 pays a a7w pri. The oon argue on account of 7. The 1" can be
made in two ways. We can derive p1°31 mwa2 179 from 2"792 199 in this manner; if in the 2"77 where 237 W are w»
nevertheless 177 is 211 a 11, so in the p1°17 MW7 where 7" are 2»1 a w"1, surely j7p should be 217 a w"1. However
the 0°non argue and say you are deriving P13 mwn2 1@ from 1"772 7P therefore 1°7 to pay only a 1"17 as it pays in
1"77. We can also derive 199 from "W in this manner; if 2" who are 7"7772 79, are nevertheless 21 a MW" w"a
P1°17, so 17 which is 1"'772 2°°1 (a 1"1) should certainly be 21 a 1737 Mwn2 w"1. In this case the 777 (which is 2"W)
pays a w"1, and nevertheless the 0 mdn still say 177, since the reason you want to make this 1" is because 177 is more
T than 7" W, and the &7 of 17p is that it pays a 1"1, therefore all you can derive is that 177 pays a p1°17 mwn2a 1.
The same applies to the proposed 1" of Maon, even though the 7171 (which is yIw3a Xnww 0°921 07X) is a WK but
the X1 of 1pwn (that it is 07 *93 77X Knvn) is only a 1w, therefore we would only be able derive that Xnwii Ppwn
ywn is merely a 1w (if not for M»oIN answer).
# See footnote # 18.
** See X"wmn and 7 NNA.
25 See "X 1" X173 "2 mpoIn [TIE footnote # 23].
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